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2. The Washington Monument is 169 meters high. About how q
far should you stand from it 1o block it out with your hand?

Assume your hand is 18 cm long and you hold it 50 em from
your eye.

N\Y_—€o0 ./

" W A P
‘f\'l\ v o~

§4.5

N

A9 X

Y
/
\ x =469 %m.
3. 'H!Htunall!lh!h!igh&o(ahlilﬂir’gaSk?otSinchlnﬂ
the building? ' ) , 0 O?; 32.
L S po
W
al RPN x= 949 m
£t Bin 2375 #¢ { I8¢ Jin )
180 in.)
S. Students are told that Triangle | and Triangle Il arc similar. W f.r\ T A . S\r"x \'}"!/ I‘.: ’M v
. \Dr\ST, \‘n.,\)/’\T

| H]
' E
"
| n ;
T d w1 up the followi poti
sudent A2 =2 SndentB: 37 Sndentc X3
7z iz YT B

The said that all three prop
each student’s thinking,

are commect. Explain

\orng T

shortT
Shor AT

\ornn T

v

lvaﬂ\j?r

SWHo T

|9 1\0\1# s\orX T
-

6. Another method that can be used to find the height of an object
indirectly is often called the mrirror method. In this methad, a mirmor
with a dot on it is placed between a person and the object to be

measured. The person looks into the mirror and walks back and
forth until he can see the top of the object on the dot i the mimor,

If the person knows his height (to his eye), his distance from the dot
on the mirmr, and the distance between the miror and the objed,
e can use similar trangles to find the height of the object
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Suppose your eye is 6h inches above the ground and your feet ane
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A0 inches from the dot on the miror. How tall is the tee if the
mirror is 14 feet away from the tree?
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